H & 0l & AHS B Ml A

SN - B CRA(3) - HRAY - BAS 0l Aro Y o 2
S 786,064 738,064 48,000
EERECEIEEE) 428,000 380,000 48,000
F0I%2 A 428,000 380,000 48,000
BT 428,000 380,000 48,000
401 Al&HI L S CHY] 428,000 380,000 48,000
01 Al 428,000 380,000 48,000
oRSE SR HBOIE B2 2327
= 11,000,002 11,000 0 11,000
oRNE Rl ASOIS 22 22273
At 12,000, 0002 12,000 0 12,000
oFAHS otmoel HADIE K42 S3=
= 14,000,002 14,000 0 14,000
oXME AT BUDE A2 S3=
= 11,000,002 11,000 0 11,000
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FA EH
I NSFMEeI(E8)
Rl FRI=SEAY (SH9 H2)
SN - FH - G(EH) - NRAY - BAS 0 &t N E o HimE==T
e 477,735 467,735 10,000
XZHa2D(ge) 280,000 270,000 10,000
FoU=FAY 280,000 270,000 10,000
MEHAAY 280,000 270,000 10,000
401 AlZHIL S CHY] 280,000 270,000 10,000
01 AlZHI 280,000 270,000 10,000
ogt 23¥el s - ti+2 SSEF3A
10,000,000& 10,000 0 10,000
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A AAH
A XGSZ A2 (&)

el FO=JFAY

oS (Er9: &)
SA B SABH) - KIRAY - BLS o &r o) 3 o HDS2
aAd 610,864 560,864 50,000
XS ZHI A2 DI (&AHSH) 360,000 310,000 50,000
FOI=2AY 360,000 310,000 50,000
HEEHAAY 360,000 310,000 50,000
401 AIZHIX 20 360,000 310,000 50,000
01 A28l 360,000 310,000 50,000
ofAH el EHOS 2 S8+
SAk 10,000,000 10,000 0 10,000
o HH 4] 2HRilE 2 S8+
SAt 10,000,000 10,000 0 10,000
oA e SS0E =2 885+
S 10,000,000 10,000 0 10,000
oM el FAllE MYZ S=3=
SAk 10,000,000 10,000 0 10,000
oHE AMEEl 2 ARE SSFTASA
10,000,000 10,000 0 10,000
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PN 2EH
I NSFM&D(&EH)

Rl FRI=SEAY (St &)
SN - FH - G(EH) - NRAY - BAS 0 &t N E o HimE==T
28H 563,384 503,384 50,000
NSAZBHARD(&EH) 350,000 300,000 50,000

FoU=FAY 350,000 300,000 50,000
MEHAAY 350,000 300,000 50,000
401 AlZHIL S CHY] 350,000 300,000 50,000

01 AlZHI 350,000 300,000 50,000
oEEH S HEE 2 S857

SAt 13,000,0002 13,000 0 13,000
cEEW i EMOE S22 S35

TSAE 13,000,000& 13,000 0 13,000
oEEH ZYC ALY0IE 82 S=5

TSA 13,000,000& 13,000 0 13,000
oEEH 3ol A=S0tE W2 28 &

= 11,000,000& 11,000 0 11,000
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=K =0/8
Zay: XAFH A2II(=0/2)
TPl TRl

== EERE)
SN - FH - G(EH) - NRAY - BAS 0 &t N E o blnE2
=0/H 465,278 445,278 20,000
KSESEHARIDI(S01H) 275,000 255,000 20,000
FOI=RIALY 275,000 255,000 20,000
METHOIALYS 275,000 255,000 20,000
401 Al&HIZ 20| 275,000 255,000 20,000
01 AlEHI 275,000 255,000 20,000
oS0|H AtHel =2 StHEA S S=713
At 4,100,000& » 14! 4,100 0 4,100
=20/ 282 Ol=8H2 ESE73AM
4,000,000 14 4,000 0 4,000
oS50/ &Eel /IE= MA
530,000 * 100K 2~ 5,300 0 5,300
o50|H 22| 2 F4
660,000 & 57 A 3,300 0 3,300
o50|H 23| tix2 =4
660,000 *57H 2 3,300 0 3,300
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Ol &F A

Al A

A SotH
M XNSZHMA2DI(SoHH)

2l FRI=JAY EER=E)
SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
SotH 448,727 433,727 15,000
KNS ZBH&ID|(S561H) 270,000 255,000 15,000

FoI=JALY 270,000 255,000 15,000
AHEHH O ALY 270,000 255,000 15,000
401 Al HIL 20| 270,000 255,000 15,000

01 A&l 270,000 255,000 15,000
oS5l 852 =2 &&
2,250,000& 2,250 0 2,250
o=otH HHEe 2 &4
3,750,000& 3,750 0 3,750
oS5t J2| =2 =&
3,750,000& 3,750 0 3,750
oS5tH S Ao EXE =4 5,250 5,250
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